A E BE E RS

-3a—)b

25— BFROEHEREXS IR

£2X
£3X
4X
X
6
=

TXME 42.195k m

TE10km

3km
8.1075 k m
8.0875km
3km

5km
5km

LA ERE E SR RIE ~ TSR R Tl se—
KRt~ HFEARR ——
MFEAER~HFEETERA —
4 P 1R & IR AR AT ~ JT TR & AT 100mER
FTIFELAT100mER ~ A IEAET
MAIEAET~Fmidt (EE)

Fefttdt (AT ~ IR ERE SRR S m—

||||||

EHEm @

AA—F J4=Zvy¥a

ZE—hSAUET =S54y  TA=UIaAFEIF— rHBIENR

M S EFEHE Y (2298, 6m ITAYKTER
CIhD1REHB/ANS Y EES
THBIENA
D I ER
N Ag-h . = 5km 10km 15km W0km 25k m 30k m 35k m 40K m I4=991
% = 5% -1 = -1
% 2 a—
() & m qz s i A



BFE LR U B AR BPE2 - 5

e Y,
Mﬁl i T nmmmmwn

= ®Q I mmwu

-

””//// LG

=t

BS0HF
. g/\*xg)%ﬁ%%ﬁﬁ BB o
! el :
L IL i &57%1? ot =
X \XQ\\»} Do ERmT b e
\\\) ﬂ\\ \ P A By 2y
\ \\ | @ sma

s :
T .
\ﬂ%\ %\% ) \\\\\\

W L
ig\@«\\ \ \\\\\ \\ /\\\
\\// - :

° B EshRTO

ML -ERE
B - SREEEI

EARRAT LR L I

#EL

/ #HELAD N







%6 O EMESKRBEFREHEAR FRRARUEY1%S
1K el 2% - 5K R

25X 1% 3XHfE
EPRE

4 - 6XHfE 3X7%1km




6 X 7% 1km

1-4R%Y 1%

TXHER TX5%1km

. [mEsEsY

h KALBRS 79K

®iE
[BULE LR

DimR



